
Substitution 
 

 

2=a   3=b   4=c  

 
 
 

abc  

 

a

bc

 

 

b

ca +

 

 

)( cba +
 

 

cab +  

 

22 ba +  

 

2)( ba +
 

cb +2
 

 

b

a

c









 

 

)(5 cba ++
 

 

cba ++  

 

bca +5  

 

cba ++5



Substitution - Answers 
 

 

2=a   3=b   4=c  

 
 
 

abc  24 

 

a

bc

 6 

 

b

ca +

 2 

 

)( cba +
 14 

 

cab +  10 

 

22 ba +  13 

 

2)( ba +
 25 

cb +2
 13 

 

b

a

c









 8 

 

)(5 cba ++
 45 

 

cba ++  3 

 

bca +5  22 

 

cba ++5  17

 
 
 
 



Substitution Involving Negatives 
 

 

2−=a   3=b   4−=c  

 
 
 

abc  

 

a

bc

 

 

b

ca +

 

 

)( cba +
 

 

cab +  

 

22 ba +  

 

2)( ba +
 

cb +2
 

 

b

a

c









 

 

)(5 cba ++
 

 

acb −+  

 

bca +5  

 

cba ++5



Substitution - Answers 
 

 

2−=a   3=b   4−=c  

 
 
 

abc  24 

 

a

bc

 6 

 

b

ca +

 -2 

 

)( cba +
 2 

 

cab +  -10 

 

22 ba +  13 

 

2)( ba +
 1 

cb +2
 5 

 

b

a

c









 8 

 

)(5 cba ++
 -15 

 

acb −+  1 

 

bca +5  -22 

 

cba ++5  -11

 
 
 
 



IRV =  

maF =  

r2  
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3
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2
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21 RRRT
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2mce =  


